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circumference of a circle C=2nr area of a circle A=7r?
area of a parallelogram A=Dbh area of a trapezium A= %(a +b)h
T A 1 bh total surface area of a S = rs 42
cone
total surface area of a P D)
. S=2nrh+2nr surface area of a sphere S=4rr
cylinder
1
volume of a cone V= gﬂrzh volume of a cylinder V =xr’h
volume of a prism V = A4h volume of a pyramid V==A4h
4 3
volume of a sphere V= gﬂ'l’

Sequences and series

arithmetic sequence

t,=t+(n-1)d

S = g(ztl +(n-1)d)= g(t1 +1,)

geometric sequence

Logarithms

exponents and logarithms

a*=b<o x=log,(b)

logarithmic laws

log, (x)+log, (y)=1log,(xy)
o (x) - og, (3) = og, 2

log, (x") =nlog, (x)

log,, (x) = %
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(" n+l
= X" =px"! x"dx = +c
dx ) n+l
ie" =e* efdx =e* +c¢
dx )
%ln(x)=— J%dx=ln(x)+c
disin(x) = cos(x) sin(x)dx = —cos(x)+c
x J
dicos(x) = —sin(x) cos(x)dx =sin(x)+c
x o/
A It h(x)=f(g(x)) If  y=7(u)andu=g(x)
chain ruie d d du
then /'(x)=/"(g(x))g'(x) then 7% = =222
d 1 If hx)=7(x)g(x) d uv)—uﬂﬂ;ﬂ
product rule 0 ) = . ’ s Su v
en /'(x)=f(x)g'(x)+/"(x)g(x)
X
If  h(x)= fg ; du  dv
) g\X d u Va —Uu E
quotient rule e 3
! _ ! x V
then 7'(x)= /' (x)g(x) fz(x)g (x) Y
(2(x))

Trigonometry

cosine rule

c? =a® +b? —2abcos(C)

sine rule

a b c

sin(A4) " sin (B) B sin(C)

area of a triangle

area = %bcsin (A)

Pythagorean identity

sin? (4)+ cos? (4)=1
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Statistics

n n
binomial theorem (x + y)n =x"+ [ i ]xn_ly +... +( an—ryr +o+ )"
r
n _
binomial probability P(X=r)= [ jp’ (1-p)""
r

mean E(X)=u=> px
discrete random variable X

variance Var(X) =Y p (% — 1)

o)

mean E(X)=,u=J xp(x)dx
continuous random variable X - =

variance Var(X)= J (x— ,u)2 p(x)dx

mean np
binomial distribution

variance np(l-p)

mean p
sample proportion

standard p(1-p)

deviation n

i /A 1-p ’A 1-p
?pprommate confidence Pz p(1-p) Ptz p(1-p)
interval for p n n

general addition rule for
probability

P(AUB)=P(4)+P(B)-P(ANB)

probability of independent

events P(AnB)=P(4)xP(B)

P(4nB)
conditional probability P(A|B)= P
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